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. This Question Booklet contains 150 gquestions. Each

- ‘This Question Booklet contains Four Parts wherein

. This Question Booklet consists of the following Parts :

. Do not write anything on the cover page and inside the

- Ifyou happen to find that the booklet issued to you does

- The number of questions attempted must be written in

. In case of any ambiguity in Hindi version, English version

IMPORTANT INSTRUCTIONS
Answer all questions, All questions carry equal marks.
The candidate should indicate his Category, Roll No.,
Registration No., Question Booklet Series at the space
provided on OMRE Answer Sheet. I
For Language-I1 from English, Urdu or Sanskrit, choose
only one language which you have selected as an option
in your registration and mark on the OMR Answer Sheet
otherwise the Answer Sheet will not be evaluated and the
candidate will be solely responsible for it. ;

question has four alternative answers. The candidate has
to.darken only one circle/bubble on the answer sheet
using black/blue ballpoint pen indicating the correct
answer as shown below :

Example : @D @ @ @, where (3) is the correct answer.
Ifmore than oné answer are marked, it would be treated
as wrong answer and it will not be examined, <~ '

first threo parts are compulsory for all. Attempt all
the questions seclecting any one language from
Language-II in Part-11I. Part-IV iz related to special
subject. Candidates who opted for Mathematics and
Bcience have to attempt questions of Part-IV (A) and
rest of the candidates have to attempt questions of
Part-IV (B). All questions are multiple-choice types.
There will be no negative marking.

Part-[ : Child Development and

Teaching Method Q. Nos. 1-30
Part-1l : Language-! : Hindi Q. Nos. 31-60
Part-11l : Language-II : English Q. Nos. 61-90

OR Urdu Q. Nos. 61-90

OR Sanskrit . Nos. 61-90

Part=IV : (A) Mathematics and Science Q. Nos. 91-150
OR  (B) Social Studies/

Other Subjects Q. Nos. 91-150

question booklet.

not have all the pages properly printed or it has any other
deficiency, then you need to approach the invigilator to
get another booklet of same series and code.

words and figures in the specificd place on the OMR
sheet, ¥

shall be considered authentic;
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HT—I / PART—I
e TR e e &ty
CHILD DEVELOPMENT AND TEACHING METHOD

1. ™ T § T3R5 B @lateau in learning curve is caused
(1) uftgear & &ro due to
- (2) AN F HRo (1) maturation
s \ﬁh UFH F FO (2) motivation
4) AN F FRO (3) fatigue
| 2. ;&L o e R T 3 v A 27 (4) interest
_ 0 ftrm Y iy @dirror drawing test is used to measure .
5 “(2) frm-sEm (1) rate of learning
' (3) TSHTEHEAl g: transfer of learning -
4) ety creativity
}r 33?«!133” ﬁw%{zﬁnﬁﬁmwﬁm {§)y Intesost
i Trar 27 3. Lloud picture test _is used to measure
: ) T which of the following? - i
| &) i (1) Intelligence
g; Siframr Personality
- (3) Aptitude
M a:lﬁmﬁ . (4) Interest
4. e Ay I 7 ind the odd one.
(1), Fe E{ < - 1) “TAT
- Y (2)"16-PF
(3) & = W& < ('3) Raven’s test . g
ﬁ/m gi-T-4 wEw © %) Draw-a-Man test : :
5._(71,]8,89, 10, 11, 12 A Tfow ¥ @he median 617, 8, 9, 10, 115 1215 | §
; . : : (1) 8 : 7 :
(2) 9 " ) 9 ‘ ‘K Xd

(3) - Bélowd 3) 10 ' 'Zt % ‘

A 95 A 95 ' P4
6. gF M W&%mmmwm ho has propounded the theory of A

&7 insight?
(1) uHeRES (1) Thorndike |
(2] rereeETd) (2) Gestalt Psychologist ’
(3) wm (3) Hegarty 1_
(4) e 5 o @n Skinner : 4
% E % ST S T W 4 a::;gﬁ%;t:xﬁl)ougaﬂ, every instinct is’
'(1) eI : (1) cognition
2y | ' (2) emotion
(3) I (3) sensation ]
(4) A (4) thinking |
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8. 7d STy % IMUR T I H 3 o ey
el 8
(1) W

(2} TAETH

" (3) s
(4) HedT

9. yfa @ % HiEgd A ARG 3 e af 3y
saehl g afed el 87

(1) 150
2y 160
(3) 140
(4) 135

1om-m§1‘zaﬁzqugﬁaa@qﬁim

wRiaoEE ghe Afed W wEdral 87
(1) 70-79
Mo-ﬁg
(3) 3649
(4) 35 F e
11. ﬁmmﬁ%ﬁmmﬁﬂﬁﬁﬁ?&%
w%gﬁﬁmm%? . ’
(1) =afea
@) 3=
' (3) wIfrf
12. ﬁﬂﬁﬁﬁ?{-ﬁrﬁqﬁzﬂmaﬁ%? :
(1) e # wh
2) TR A i =81
(3) =R 7%
@ i i gl faferat

13. ® fogm, < d=meRs Wed F @ T,
ﬁﬂlﬁ“ﬁ%ﬁ mﬁwmﬁaﬂtm
mﬁﬁﬁﬁmﬁ&a% FEAT ¢ - - -

M wiferh
(2) T
(3) wfify
(4) W

Paper-I1/C

\s/.@éi_ng the meaning to sensation on the
basis of past experience is called
(1)
ol2)perception

(3) motivation
(4)
%e-year old Mohan has mental age of

sensation

imagination

eight. What is his 1Q? [6

(1) 150 ol o L
')21 160 ]

(3) 140 e

(4) 135

Which IQ range is called trainable 1Q
level of mentally retarded. children?

__() 70-79
(2) 50-69
(3) 36-49
(4) 35 and below

Rorschach linkblot test -is used 1o

@measure' which of the following? "

(1)» Persenality
(2) Intelligence
(3) Interest -
(4) Aptitude
ich of the following is not the cause
of forgetting? Sl
(1) Under—leammg
Desire to remember
(3) Mental conflict
(4) Defective methods of remembenng
¢The science which deals w1th the

. methods of collecting, classifying,
presenting, compqnng and interpreting

~ numerical data is called
v (1 '
(2)
(3)
4)

2.

statistics !

mathematics
geometry
probability

IV[-P.T.O.

——4
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14. fizR 7=t ¥ forg e @y fit s@umon
forga & 27

(1) e
(2) oA
(3) A A
(9} Tt =€
15. 791 § } FH-W T 399 wem 6 s
AR
(1) Toraesa
(2) Qe
(3) wrghEa
4y e
16. 7= § ¥ F-w g 1 frgra T 37
(1) -t fagra

ﬁmﬁﬂiﬁa-@ﬁwmmﬁﬁﬂﬁ%?
(1) e ot (i
(2) tnzlggﬁa o G .”'
NZ) R a9 -
(4) TS O
18, fe ¥ argER demrs Rem R fda
e B
(1) A=A sraen
@) S e 1 ST /
3y E-dfe R sEn
(@) Td g 9 smEen
19, TR fEE W OINRE FO T
R
A A
(2) STaTER
_(3f @ an =W
(4) ST @

Paper-11/C

concept of

given the
for backward

@ ho has
educational quotient
children?

(1)
(2)
(3)
(4)

\_/.(5 Which among the following is different
from the characteristics of a good test?

(1) Reliability

__(2)_Validity
(3) Objectivity
4) Aptitude

(
hich of the following is not the theory
of intelligence? _

(1) Unifactor theory
(2)
)
(4)

Which one of the following is not a
-ductless gland?

(1) “Adrenal gland
___(_2_)_! Pituitary gland
(3) Salivary gland
(4) Thyroid gland

According to Piaget, the second
cognitive development ig -~

(1) sensorimotor stage

Gordon
Schonell
Burton Hall
Cyril Burt

Two-factor theory
Theory of regression

Multifactor theory

| J

(2) formal operations stage
(3) pre-operations stage
(4) concrete Operations stage

t‘I/Eh\}h"l'uat is the fa
development?

(1)
(2)
@)

ctor mﬂuencmg physical

Heredity
Environment

Sports and exercise

(4)

All of the
above

A
j
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2o.§ﬁmﬁaﬁwwaﬁﬁgﬁnﬁaﬁm
?

H‘i;y':fﬁﬁffﬂﬁ-xloo
areafa® g
i Y
LEEEEE
et g
e,
THRTR 31
Jreifaes 31g x 100
21, ‘faasfia 9’ i == 79 @ o 6 e
%
(2) &
(3) =
(4) 3T
22, AMTATHF qeh % Tl 3 SH-4l Wiva T 87
(1) facies
»gydwﬁn
(3) |EHTHW
(4) Heddl
23. #ﬁﬁvﬁﬁaMTHﬁtnnnaﬂ#aﬁtgﬂiﬂ?ﬂﬂﬂﬁﬁ
A% BH1
) foemm e
(2) TR
(3) umwm g
(4) f?

24. 79 W A & vg@ fdwa 2, shwﬁwﬂ%
(1) Faa wgei i

(2) Faw fafgat qon 58 #
M) gwﬁmﬁmawﬁﬁ

(2
(3) x 100

(4)

(4) Faa FeTHRl §

Paper-II/C 5]

Mhich of the following is correct formula
to calculate 1Q?

MA

MA «100
A A _
(9}, EA
MA
@3 <Axi00
MA
MA
7 D oL
® Cax100

: @Vbo among the following described
‘reflective thinking'?

(1) Dewey
(2)
(3)
(4)

Which is not included in the levels of
inductive reasoning?

Ross
Woodworth

Drever

(1) Observation
(2)., Experiment

(38) Generalization

: @ Imagination g |
. Failure in retention and rééall of learnt

content is

A

@

f. The main characteristic of basic instinct
is that which is found only in

(1)
@)

_@l

(@)

retention

thinking

human beings
cats ar.l'd rats_

all organisms and it is inborn and
natural

artists

‘["P.T.O.
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25. i W % v o 1 6-14 -
F g & fau figes 9 sfed foan =
iy wmfie feran 27

(1) STI=8% 26
(2) 3TI<BE 15
(3) 3IT=% 45
Jfaaﬁezm
26. IR 3 =he-H F= d § BFe wE wr A
iffera o 7
(1) FIE ()
(2) e
(3) MaHE

o IR aft
27. o $o o & Rwa e F A Frwam ww 77

(2) e
(3) <
(4) A ;
28.§mﬂﬁ@ﬁﬁmﬁ%mﬁmm
7
(1) it -
(@) s
(4) g
20. fim # @ F-w faen wAfkEE A s
wfrig Tt 87 e |

e

() =fEEEA

(3) EdIHA

(4) TR g
30. et g et 4 P o 7

o

@. The right to free and compulsory

ducation for children between age
group of 6-14 has been included in the
Indian Constitution as

@ Article 26

(2) Article 15
(3) Article 45
) Article 21A

26. Kretscﬁmer has classified the persons in

/ which one of the following main types?

(1) Asthenic
(2) Athletic

(3) Pyknic i
(4) All of the above " -, |

ly The purpose of TET is to measure which P :

i

of the following?
(1)
—2)
3)

2 4

Intelligence

Aptitude

Attitude

Values' - s 08

Consolidation theory explains which of |
the following? -

28.

(2)n Learning
(2), Memory

(3)
(4) Creativity

Motivation

29, Which of the following is the most
subjective method _of educational

psychology? IEH {

(1)

(2)

L @)
(4)

:

|
Introspection o
Extrospection f
Observation

Experimentation

@ Albert Bandura is associated wi't.h'.Which _

of the following?
(1)
(2
(3)
4)

Social learning theory
Behavioural theory

Cognitive development thec.ory
Psychosexual development
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PART—II

W (=) Language—l (HINDI)

‘e’ &1 Taem
(1) "=
(2)

(3) i
(4) wEE
‘g’ T F A @

&2

¥

(4} Sl
for o 7=

S 0 AR B = sk &
(1) < SiRa" | e -
f2) =8 %M Toge 76 e s g
(3) e Al il gEA
(4) foredt it ag fRelt g =1 S
. ‘T § SI-9] GHE 87
(1) =&
£
(3) g™
~ (@) W
6.) SNTETR 1 ST 2
(1) #em H :
@) agwn@ﬁaﬁaa/
(3) e = = ©
) ¥,
UF 3N RfE @ifg T SR g |
ﬁﬂﬁaﬁﬁaﬁaﬁu@w@mll
T Ufrat § e @ 2 :
1) Mz -
- (2) mwm

@) ()
4) w9 m\/

y.

Paper-11/¢

.

ﬁﬂﬁﬁﬁnﬁﬁﬁam%mm

(=5

(1)
(2) =
3) GTSEFQ//
4) =
9. ‘SE TEER oM R —zq A R
fr=ifera 3 @ form frm %1 e 7
(1) &g e
@) Ronsfs Bem
) ot T fie e on
(4) gdTfere T ),
ﬁmﬁa@aﬁwﬁmﬁﬁfﬁqﬁ%
(1) e g Bk :
(2) aﬂaﬁﬁﬁﬁﬁv/
(3) =arE fafy -2 o
(@) Tmaa U3 fafy
frfifad 3 g siga &
(1) ﬁﬁsﬁrﬁaﬁamﬁﬁmﬁwmm
(2) IR . THRAEH FA
(3) Bl g/
(@) v 3R wifge o =
&= wftw % sfem ¥ wEw d wied
;‘ﬂﬁ@lﬁﬁi‘« e R<eam’ e fomn
! _
(1) wﬂmmy/
(2) g FuR T
@) mwizawht .
(4) itz amf _

Torceet wmadt it wid

/a/”;—vﬁaﬁmwﬁ%mmaf

A I g@ g vied IN Ta T
——ﬁwﬁdﬁﬁ%’? -

(1) /

(3) mmﬁUﬁ

/

(4) T

[ B.T.O.

r
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(1) 3I%d AEvE

(2) sfem fafermrs
(3) <HRE IEER
_(4) wReR A
g Tt R e 2
(1) wiEen

(@) wEE
(3) T

(4)

.'g%mmm%m %swzm%?

(1) Fom Heet

@ #fgm
3) o/
(4) W BEe=

47, ‘B S T GIR H THIHR FAM &
T W) AR .

(3) =< U
(4) HER T

mw:nga;ﬂmmﬁmamm%ﬁmm
mga:n?

/1) am’aﬁﬂ
(3) TAHEE «
4) qﬁﬁﬁm

Paper-11/C

fSw (v o 50-54) : f g T F TR
ﬁﬂ%{%ﬁmﬁ%ﬂﬁﬁmﬁﬁ&l

34T T G g Al
o] TeH I 3, @ v 7 g A T @ A
w38 i @ Sl ol e =RA g % A
R | ek T a5 s ¢ TR e fam
wﬂmﬁﬁﬁ%,wﬁ@g?ﬁi mg(ﬂ
ST | 38 GER | »

gl g%qa@l 8 9l 2, 'ﬂ’iﬁgﬁﬁ

TR T AT I A
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¥ @M @ I FQ € :

Wﬁwwﬁmmﬁww-
P-4 27

_)/%ﬂrv?rt w, T W Bfm G
Jd TG H A :
2) @ IE AR seoel
(3) I R iRl
(4) TR A FH
51. Fam ¥ T3-73 TN} TR 3y W g
(1) I =R B
(2) HREEN H
(3) TATHER H j
\_(g/aﬂﬁiﬁﬁﬁla?f A

i

.
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ar—III / PART—III
ar1-11 (37s1) / Language-II (ENGLISH)

Candidates should answer the questions from the following part only if they have
‘opted for ENGLISH as LANGUAGE-II .

v./é. To chew the cud’ correctly means
(1) to contrive against someone
(2) . to die on duty
) to meditate
(4). to incu'lcéte virtues

Directions : Complete the sentences in the
following questions (Qucstmn Nos 62 to 64)
with most appropriate choice. & :

62. He was very much ashamed _____ ‘his
mischief.

(1) for

_2) of | :: )

(3) with
(4) ‘over i e i_

/  683. 1 fhe stood first, he wou]d have gonq
to America. it

If R

Had “ :_‘. ;
(3) Have -~ , B fo l e
(4 Anyways

64 Of the sword and pen, the is more

powerful. -
(1) last one " @

A2}y later
(3) latter ’
(4) /last

hich prefix .can be used -with the
following words? -

A b’éﬁ_ave, guide, use

&Z Choose the correct sentence.

(1) The committee were one on this

point. =
The committee was one omn t_h;s

point.

(3) The committee was divided on this’
point.

) The committee have one on this
point.

hich of the following is an example of
simile?
) I wandered lonely as a clQud.
(2) Life is a dream. @
Anxiety is sitting on her face
) A lie has no legs.

68. Change the following sentence into
active voice :
The wvisitors. were shown .the
newborn by the woman. ' .
i (1)) The newborn was shown to tHe
, '1? visitors by the woman.'
\ (2)" The woman has shown the néwborn
to the visitors,
:) 43} The woman showed the visitors the
newborn.

(4) The woman might have shown the
newborn.

‘adverse’.

' (l —~(1) Hostile

k]
70. Fill in:the blank with correct word - to
complete the proverb :

(1) in 5 5k Blood/is" ' .than water.,
2 - di Y, (1) _thm.ner
@ 1?-; .(2) thicker
&7 mis (3) purer
@) re (4) precious
Paper-11/C 10 23
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-(2) Friendly -~
Inimical _ R |
i {) Unwilling 2%

. Select the antonym for the word &



71 Bees are kept in
(1) a pantry
(2) a nursery
/(3) an apiary

(4) an aquarium

The idiom ‘green—eyed monster’ means
cn-eycc mons

(1) to be jealous

to be sick

-

(3) to be angry

4) to be blind
3. Select the sentence in which the article
has/been wrongly used.

He is a MA.

(2) Twelve inches make a foot.
(3) A pupil should obey his teacher,
(4) He is a European.

Pick out the correct question tag for the

following :
People shouldn’t drink “and
drive, y i
@) should they?
(2) shouldn’t they?
(38) isn't it?
A4) shall they?

y sentence is divided into four parts
(a), (B), (C) and (D). Point out the part
that has an error :
(A) You are learning English
(B) for the last one year
(C)  but you show e
(D) no improvement at all.

@ A () B

®) @ D

767 Give one-word substitution for the
following :. ()
The scientific study of insects
(1) Criminology
2) Entdmolog
'(3) Mycology
(4) Meteorology

Paper-11/C 11

77/ Point out the correct direct speech for
the following :

I asked why he was _looking
through the keyhole. -

(1) “Are you looking _through the
keyhole?” I said.
(2) “Do not look through ﬂle keyhole,”

I said.

“Why are you lookmg through the
keyhole?” 1 said.

Lon

(4) “You are looking through the

eyhole,” I said.
) t the verbs in the brackets into the
correct present tense : P g

My daughter never. (wrlte] to me
so I never (know) what she (do)..

My daughter never wrote to me so
I never knew what she do.

) My daughter never write t6 me so

«
, I never knew what she does.

My daughter never writes to me so
I never know what she is doing.

My daughter never writes to me so
I never knew what she does.

\}/ﬂ ck out the correct synonym of the
w

ord cantankerous

I

[1) Rash

(2)

3) Noisy

Quarrelsome :

“Pick out the sentence that has a
demonstrative ad_]ectlvc m it.

(1)
(2)

It is a twenty- kllometrc walk

This kind of question 1s-,often asked
in examinations. ‘. s

(3) Each of them received ten rupees.
is written statement dlffers from

his oral one, -

“ [ P.T.O.
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Directions : Read the given passage carefully
and answer the questions (Question Nos.
81 to 85) that follow by selecting the most
appropriate option.

Work expands so as to fill the time available
for its completion. The general recognition of
this fact is shown in the proverbial phrase, “It
is the busiest man who has time to spare”.
Thus, an elderly lady at leisure can spend the
entire day writing a postcard to her niece. An
hour will be spent in finding the postcard,
another hunting for spectacles, half an hour
to search for the address, an hour and a
quarter in composition and twenty minutes in
deciding whether or not to take an umbrella
when going to the pillar-box in the street. The
total effort that would occupy a busy man for
three minutes, all told, may in this fashion
leave another person completely exhausted
after a day of doubt, anxiety and toil.

Bﬁhat is the total time spent Dy the

/ elderly lady in writing a postcard?

(1) Three minutes bl
Mull day
(3) Four hours and five minutes

(4) Half an hour

What happens when the time to be
spent on some work increases?

) The work is done smoothly.

!

(1
The work is done leisurely.
@} The work consumes all the time.

(4) The work rieeds additional time.

Paper-11/C

. 85, Point out the

12

-

83. What does the expression Ppillar-boy’
stand for?

(1) A box attached to the pillar
(2) A box in the pillar
(3) Box office

} A pillar-type postbox

-

84,/ Who is the person likely to take more
time to do work?

(1) A busy man

}}/ An elderly person

(3) "A man of leisure

(4) An exhausted person

most . appropriate
‘explanation of the sentence, “Work
expands so as to fill the time available
for its completion”. ’

(1) The more work there is to be done,
the more the time needed.

) Whatever time is available for a
given amount of work, all of it will
be used.

. ¥

(3) If you have more time, you can do
more work.

(4) If you have some important work to
do, you should always have some
additional time.
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Directions : Read the given passage carefully
and answer the questions (Question Nos.
86 to 90) that follow by-selecting the most

appropriate option. !

Helicopters are VEry G;fer nt frcn;‘{" airplanes.
They can do three things that airplanes
cannot do. First, when airplanes “move
upward, they must also move forward, but
helicopters can move straight up without
moving ahead. Second, helicopters can fly
backward, which airplanes cannot do. Third,
helicopters can use their rotors to hover in the
air, which is impossible for airplanes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks.
Since helicopters can take off without moving
forward, they do not need a runway for
takeoff. They are used in congested areas
where there is no room for airplanes or in
isolated areas, which do not have airports.
Because they can hover, they are used on fire-
fighting missions to drop water on fires. They
are used in logging operations to lift trees out
of forests. Helicopters are used as air
ambulances to airlift patients out of
situations, which are difficult to reach by
conventional ambulances. The police use
helicopters to follow suspects on the ground
orto search for cars on the ground. Of course,
helicopters have military uses because of their
design and capabilities.

86. The word ‘congested’ in thc passage
%< ceans -~ . -2t ot 4 1 U
(1): the place is roomy
pa/n@

(3) 'the place can be accessed by police
.vans &..

1%

place has no place
._..--—"_-___- "

(@)

the place has so much of smoke
due to fire )CJ

Paper-11/¢ 13

\why is a helicopter
ambulance?

87. AAelicopter can hover while an airplane
annot, according to the passage.

‘Hover’ in the passage means

(1) stay at one place in the air
U(@T move straight up in the air

(3) go back\-vérc.l“in the air D(

(4)/ fly sideways

oL

. Point out the grammatical category of
the word ‘perform’ in the passage.

(1)

(2y Verb

Noun

(3) Adverb

(4) - Helping verb

used as an
(1)F11ts mpx;:en:ﬂent 'can be manoeuvred
(2) It crosses all difficulties of traffic.

\-I/treaches the inaccessible places
easﬂy

(4) It can fire-fight.
B. Poiitont the graiﬁ;ﬁatical category of
the word ‘very’ in the passage.
(1) Adverb :
@
(_LQf | Nou;n

(4)

Adjective

Verb

4% PT.O!
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WM—III / PART—III
9TI-11 (§e5d) / Language-II (SANSKRIT)

oS U ——— g g — L ¢ iy U

61.

62.

63.

64.

65.

‘& it wreafy’ amey @1 arer wfeds @m
(1) T e g

(2) eI TS US|

(3) TEN firs: Ured )

(4) TN Rres: gt

‘amifE e TR 9 o e
e §

(1) @

(2)  =gaE

(3) ¥9h

(4) 39HI

T ) TG I A ¥ —ed
GEPA FPAREW

(1) =Terh Higs e |

(2) TTHE HiEsh A=d |

(@) g HiGeh ad |

@ mmth’ﬁﬂﬂ%l

ﬁmﬁﬁaﬁq—mm nsmua qz:m&a?é’i

27

(1) ‘avfideErd

@) “YudEaiay

(3) T
) Py

aaefri%:ﬁaaqa’i ¥ PA-a1 ‘W’ g9 87

(1) w0

(2) - Ty

(3) ™

@) v wh

Paper-11/C
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66. TETE ‘TuEaRyHE:’ F1 e B

67.

68.

iy

(1) ®vadt 5 vl =

(2) ®Yadl WAl 9 9
(3) wYadt Wl e 6l
(4) w9 9E: I 4

T UTg, ¥ R, o ey, Wgae 1 9 8
(1) ==

) w4

(3) ==

(4) == |

‘a1 + S’ F BA-d w9y adt ’?

(1) & afy

(2) T Ea

(@) FwE
4) ey g

70.

71. &

() {39
(VIS
(3) Tan 3
LREES

ke LT S T 8 e i YT L

aa%,?ﬁiﬁ’m,mwmwm% !

(1) @
(2) @
(3) @
4 Fl‘ﬁﬂ‘i

Al 87

(1) FEH R

2) ﬁ—gﬂmﬁmm
(3) mm%_maﬁmm
(4) freml B
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e

. feffad TEEERE F AR g e
Emﬁnwwaﬁﬁmwmaﬁﬁm
qumy SrEOEHE WEER S Fem | gyt
qHaMR: Hifew: WG | Rsregp
gAY wedm W 9Hd | A T W SR 39w
ERURONE I wedl WRd W) wm-
Wwwy W,m‘ﬁ'qﬁm:
T | WEGEN W WS T s
ey W Fe faweedn aftfay | werige
19 @ et 3 @Y fen e fRomw o
S FeTEOATY 7 Fo-d | Hef: ey, e
F 7 AN | FHIRMY TR g99d | T qqeiie
el A | gE: WA Bl | e Wy W
T TRl WUERE W Wed  SRREE:|
RIYFRITEEE 37T, A o6l Feam wiag
MER G ‘

72. TR W v
(1) E-J:
(2) @-faw: W A
(3) WEEw:

@) @-FEs:

73. W wAEMY . pZE
{1)~5],

() 3

(3) T

(4) 3R

74.qﬂw@qgaﬁmqmm' 7.
(1) whFmay | "
2) iy
(6) =y
(4) ey

Paper-I1/¢
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75.

76.

F A R EIR
(1 f
(2) fm
3) &
(4 f

‘e TR B TEARMR e Lo
(1) 3rere wfesg #

(2) | e &

(3) e g #

(4) TR wigsq d

77. T A FH-MER T RE

78.

79

(1) &

@ 3 RNEC
@ F - e —
@ 9

'm:’ ﬁ ﬁq_m T 22

(1) wgH

(3) fam

(4) ==

‘Seq:’ R UTg H BA-EFA R
(1) TEMgEagas 4

(2) WuW g&¥ fam=m

(3) WM TR ThAET

(4) Ao T faere ALY

r “:: i[*'}?_t:rnoi
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80. ‘Far=r’ i firm fres sgER AM R? 0 | 85. ‘g wm

o) W ‘gt
e (2) ‘gemery A
2) @) ‘wefE
(3) T (4) ‘mrerdEyE #
iy 86. -1 % s ¢ <0 T A
. R . (1) g &
, A W &7 -
81. WHIETRING, e @ (5 2) ‘Eﬁﬁﬁﬁ' g v
(1) 74 (Sew) ' = e ‘g A
(2) 47 (Fafew) . | '("‘)_ ‘af A
@ 87 (&w@) 87, “sarsieemAE: § arde: e
(@) 34 (i) PR RO e () i g
(1) A
82. ‘GF TS Fm A@ Mgt - 4
(1)  ¥d: q9a T =Y
Sty T o
) A
, 88. THF ACTER BT §
(3) rEATAITER -
- 2 w (1) e ToiEg A g
(4) TS e @) s aviesgt i e
sha o = (3) T Wi T e vt B TREN
:, % . . TR o5 b [
83. ‘T’ TR (4) % Tf TR & aviagl A e -
(1) fen acges 1 FOR— |
89, ERR
(2) =g TG T (1) @ HesE
(3) FHHURT H (2) FTAEE
@) R g ), S
(@) =

84, ‘1" urg g TPR I T GHH F I : & T I
. . 90.Wﬁﬂﬂmm’wwqﬂaﬂqm

i (1) T fasma i G
) A | (2) T fedon i
@) e B (@) T R Ay
(4) e | (4) T foom i gy
Paper-11/C 20 X "'-'E’--.:.'i

Boslid casau.

Scanned by CamScanner



_
Yy o
¢ o e forgm

HRI—IV (A) / PART—IV (A)
/ MATHEMATICS AND SCIENCE

ghraneff Freferiaa m%mﬁ%mmmh&mﬁnﬁmq&ﬁmwm@ﬁ

Candidates should answer the questions from
opted for MATHEMATICS and SCIENCE

the following part only if they have

91. SR-3M TV FWea a Ffvry, ) i
Eull
(1) 9999 (2) 1899
(3) 9000 (4) 9801

92. 5 x!3+1 A x-1 ¥ WM Ry W, @3y
1 Y

(1) 0 2 1
(3) 2 4 -1
93. a4 A9 BUG=A C % AR Iqag=y &, @
AU(ANB) fae ster 87 %
(1) AnB (2) AuB
3) A 4 B

94, TF Tifa &I sHEE faad 5% 9 Wt ®) 9f
a9AF 39 T Wl SHEEm 4410 B, @
R T4 qd I Tia = SEE e i
(1) 4420 (2) 4430
(3) 4440 (4) 4000

95. UF FUHl €25 i@ i ISl GHHA FA b
fore =l & fammew, 3 81 AR @ wWH
3ifkd g € 100 7, @ A g S T
T S <l FET §IA HINT .
(1) 20000
(2) 25000
(3) 30000
4) 15000

96. AW 1 52 T H T A TH T AGSF &9
@ e s &) wifrea & 6 T gFA

% the biggest 4-digit number which is
erfect square.
. p q )
9000 w
92:When x!'3+Yisdi :
what 1s the rerhainder

9999 [NV Ua) 1899

T
\
()0 - (2) 10(’)

2 4) -1
93/1f A and B are non-empty subsets of a
then Au( is equal to

set B
\;&ﬁan T aasl2) AUB .

(4) B
‘ygﬁ; population of a village increases by
5% yearly. If nt the population of

I
the village i314410:j then what was the
population before two years? .
(1) 4420 (2) 4430

J(4) 4000

4440
95/ A company makes an advertisement of
shares ta'collect a capital of ¥ 25 lacs. If

the printedsprice of one share is ¥ 100,
then. find, the mnumber of shares
circulated by the company. 0F
(1) 20000

) 25000
(3) 30000
4) 15000

6. From a pack of 52 piaying cards, a card

is drawn at random. What is the

probability that the card is a spade or an
1 8 91 73w 7 o ace? i i O1
4 RN 6
m = @ 3 o i3 @ 13
8 ; . 2 -~ 2
(3) 5 @ z &L (3) 3 4 <
"1 W & oy e ,' SPACE FOR ROUGH WORK /{ 4 q/ ( (;:)
Q/\{gf:6-'/?> é /"-'
po (FONE) 3= t;a’/U
J(0s) o
Paper-11/C 21 I\ lppiio.
(wolr
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97. Ry fom § ABCD w WA =g ¥ @@ J/ In the given figure, ABCD is a-cyclic
he ordcrcd Palr (% Y

iHd IW (x, y) ¢ quadrilateral. Then t

A

4y+20° T7x+57
D \—/ C
(1) (5°259 - (2) (105159 © o 0525 @) (10%15)
(3) (155357 (4) (40°,35°) e, (8) (1527359 (4) (40° 359
93x%aﬁanﬂ%sﬁmﬁmana@ma§w For what value of x, the mode of the
o7 ¥ following data is 277
25, 26, 27, 23, 27, 26, 24, x, 25, 26, 27, 23, 27, 26, 24, X,
27, 26, 25, 25, _ 27, 26, 25, 25
(1) 27 i (2) 24 oot (1) 27 (2) 24
@) 25 ° @) 26— 3) 25 (4) 26
99, Il x=2, =1 z=~3 %,‘ qr 9% If3 :53‘:2’3 y=1 z=-3, then
x3+y3 +zs—3xyzﬁa'ﬂ%w%? - xZ+y’ +z° -3xyz equals
) 6 3 2) 2 [Hlan® 3) &
o 8 @ o LIEDC W
100/In a religious gathering, the ratio of
100. T gifii srew & Rt si gedl 6 wens \/‘number of ladies to that of gents was
3:2. When 20 more gents joined, the

1 TE 3:2 911 20 IR T F AW A
T Sz T | Tt il wea fed o7

¥ ratio was reversed. The number of ladies
T was R

() B0y B C Ha=ls o @ 40
101. 9 T *g'@zlaﬁ @, b, ¢ fL e 101./For three non-zero real numbers a, b, cif
E_E_E_M a-b “¢ 2a-3b¥se * (Shuw
2 3 4 k . ) 2° 34 k ik, LIS
BREEIRE o e then the value of k is / _ gk 1
1y 10 . @15 Y 5 5 1 ) 15
(3) 20 - (4) 25 (3) 20 % 25 “"(/
IOZ.HﬁAaﬂTBﬁawa @ 6 If A and B be any two sets such that
A\ B= =AT7, T ANnB © A\ B=A, then ANnB is
(1) o @ A . T
3) B (4) AUB | 8L B il

7% %rd % f7Q WE / SPACE FOR ROUGH WORK

Paper-II/C
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103. afz wiFW x2-bx+e=0 ¥ x QA mzm‘
@iﬁ@ﬁﬁ.abz—%% ki
(1) 1 (2) -1
3) O 4) 2

104.3-1 H@Eﬁ‘?’ﬁ N?] Ho Yo 3‘?[( Tlo Ho hHET: 13
R 1989 B1 I TF W& 117 A, @ qud

e 2
(1) 222 (2) 221
(3) 223 (4) 225

105. SIftH TF ¥ B IGF TeT D 10% FW W
GO ¢ 3R IGF T3 ¥ 10% 31w 3=an
2| 3FF A B

(1) 20%

7
2) 22-%
(2) 5

(3) 22E %
9

(4) 3w § 3 FE T

106. 7R WHFW x2 - px+54=0 F 7§ 2:3 %

S A E, & p FAA 2

\1}<{‘If the roots of the equation x2-bx+c=0 < @)
are two consecutive integers, then

b2 -4cis

NVER q,j@,"—l

3) ,0 | 4 2. T v
( ) ( ) ” q{y,ﬁ /.;
104. Phe HCF and LCM of two numbers are

13 and 1989 respectively. If one of the

numbers is 117, then the other number \ 0
‘!

Vﬁs‘z’ -
7

is 0
(1) 222 2y 221 7

223 @) 225

3)
goj./datin buys an article for 10% less than
its value and sells it for 10% more than

its value. His gain is k

(1) 20% : 9 -

@ 221% I A e
{ X\

9

2 _ e
\/6) 225% 3 Ly
equation

(4) None of the above :
106 1f the roots of the
x2 - px+54=0 are in the ratio 2:3, then -

the value of p is X L 6

(1) 18 2) 21 (1), 18 (2) 21 [ %, =
(85021, oty (4) 15 (3) -21 4 15 |
107. q g wFedl H Segdl @ AW | 107,The rafio of the heights of two right
05:64 TU1 3% AT} 1 JIUId 4:5 B TTH circular conésis 25:64 and the ratio of
3T|1.1?Fﬁ - 3 (1 their diameters is 4:5. The ratio of their
-y volumes is :
(1) L3 (2) 14 (1) 1:3 M 14 |
(3) 5:8 (4) 1:2 3) 5:8 4 1.2
108. Ifd A={x:x W= BELOW Hl T & 2 | f A={x:x is a letter in-word BELOW},
B={x:x Y& WOOL # T& A& %% aul /B=(x:x is a letter in word WOOL} and
G =B & €1 § - 'C=A-B, then the number of subsets of
M 1 aﬁﬁ?ﬁﬁ:ﬁ = N E Lo,
2) 2 (13 12 Q)2 L L L /
) 2 Elusopd il | @ 3 (@) 4
109. W WHEQHS % el 10 em q 24 cm Bl | 4497 perimeter of a rhombus whose
Wm% . diagonals are 10 cm and 24 cm is
(1) 120 em (2) 34cm (177120 cm (2) 34 cm
(3) 68 cm (4) 52cm —~ g (3) 68 cm (482 cm
T 74 % g 98 / SPACE FOR ROUGH WORK
Paper1/¢ 23 [ ‘P.T.O.

VB b”}”

{
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%‘\%, _QH- {z
110. T w3a § Y aﬁw@%f@

10 avﬁmrmwztsamsz’maﬂmwas
AR w&e = e 3
(1) 2-82 (2) 3-80
(3) 375 4) 425

111, 14 cm FR 9 0F 39 97 F AT T
=1 TF TEIE e h1el S 2 | 39 3o H
. wi gE R

(1) 924cm? (2) 1134cm?
(3) 2464cm? (4) 616 cm?

112, 50#@1&#1@_%@11‘@1@ 53 # ¥ g™
S § 3R W GEe w1 W -3.5 8| @ T

qeTst 1 weg R
(1) 495 (2) 535
(3) 465 4) 56'5

113, 39 V&0 5, 9, 14, 15, x+1, 2x~13, 28,
30, 32, 34 & IR HA § @ fFn
ST B S I Wi 24 | x AR
14 i
(1) 20 2) 19
(3) 21 4 16

114, TF ¥eH A 44 TR o TeAl F R ot &1 5
e[ #i freell SH/saRT TR 12ﬁ:ﬁi‘iﬁt
Sfi?

(1) 15 7d SE1=T

(2) 11 TR AT -

@) 11T =4 =

(4) 15T % (B~

N

115, = & § FH-91 FoH TF 87

() Thm h fbm e, S s,

< stuf g, w-gm W i R

(2) i = we R o wee A T
TG B

(3) emtra = o3 fan off Frgsit <ht AT,
agt T gt B

4) Fremir 1 T2 R oft @S @ .
el 81

2@ ¢
2 1@ Th b
) \/ e number of observations i

a survey
is 40. If the mean of the first 10
observations is 45 and that of

remaining is 3-5, then the mean of the
whole survey is
1 2-82 (2) 380

375 (4) 425
A right circular cylinder of maximum
volume is cut from a solid cube of
edge 14 cm. The total surface of the
cylinder is
(1) 924cm? @)
(3) 2464cm? 4) 616 cm

. There are 50 numbers. Each numb
subtracted from 53 and the mean o
numbers so obtained is —3-5. T}ﬁs e
of the given numbers is

@ 495 (2) 53 5“\{‘

(3) 465 (4) 565 7
@l‘en observations 5, 9, 14, 15, x+1,
2x-13, 28, 30, 32, 34 are written in

ascending order, The median of the data
is 24. Find the value of x. 55 )

(1) 20 @ 19 9

3 21 (4) 16 '

44 cows can graze a field in 9 days. How
many less/more. cows will graze the
same field in 12 days?

{1y 115 cows more

(2) 11 cows more

{3} 11 cows less
4)

15 cows less
115. Which of the following statements is
true? )

v‘“’

1134cm?
2

yl4.

(”(1)” Different branches of Mathematics,
viz.,. algebra, geometry, etc., are
dcpendcnt on each other.

(2) Equations can be learyt without
learning arithmetic. aip,

(3) Congruence of triangles can be

» learnt without learning algebra.

(4} Statistics can be learnt without

L~ learning algebra,

Paper-11/C
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2]
)

116

@

P .
el o e I ¥ R

e 01 5 o A

(2) Fae HHAl TE@H I G vgE
(3) Fad ol @ ¢ R
(@) & fenefl = % @ 7@ ¥ wgw

117. R A & I B % 96 ¥ 25%
aﬁBwaan%%mﬁﬁaamgﬁm@%?’
(1) 25% 2) 18%

(3) 20% 4) 15%

118. @ WHKH FENA F AW 8 7 IR T
wﬁmﬁn%%,ﬁﬁé@aﬁ-ﬁ%m
EaE]
1y 1,7 (2) 4,4
(3) 2,6 @ 3,5

119.

ot frs e e w @ 1 AR €4,000 %)

11% among the following is the best
edagogical way to teach Mathematics?
Motivate the learners to develop
their existing capabilities
Find the weakness and teach only
those parts
Find the gaps and address only
them

(4) Teach every student with the same

approach ] 1,-)"- >
. —---"

\1/ If A's salary is 25% more than that of B,

then how much percent is B's salary less
than that of A?

(1) 25%
@Y 20%

118. Phe sum of two natural numbers is 8.
v/ Determine the numbers, if the sum of

(2)

(3)

18%
15%

(2)
(4)

their reciprocals is % ¢ g D
(1) 1,7 (2) 4,4 @
(3). 2,6 \,}53" 3,'5

119. fhe expenditure of a family in a month
/ is given in the figure below @ (/.

.\ Savings
T\ 20%

If the difference of expenditure between
education and' travel is 4,000, then
what will be the total i_rxcomg I\__of the

A oRar A Fo o et €7 family?
(1) € 50,000 2) & 40,000, (1) €50,000 ._(z( ¥ 40,000
(3) ?60,000_- (4) €30,000. (3) ¥60,000 (4) €30,000,
® mﬁ.%ﬁ /  SPACE FOR ROUGH WORK
Paper-11/C 25 7. [PT.O.
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120. FH F1 THo 3o AHH Bl 3
(1) SE
() 3w
(3) e
(4) =

121. A% P, F a1 A A w,ﬁaﬁ%mﬁ
- WERia R E, @

"o
I

(1)

ol
I .
R RS TR S 1

(3) 4) P=

122.#&:5%@311@?@%@1110%%
WQSW'@IW,?T\EWW
3 ‘@ﬁn% -
(1) LWEH
(2) 2 WS
(4) 4 ¥Ew i o geviates iy

123.@mmﬁ%aﬁq§mm-mém§,

azﬁﬁszrs -

(1) mmwm%ﬁﬁﬁmm
| FAAE

2) mmﬁm@m%mﬁmm
g

] S50 0 A et

(4) o gen forgg 31 1 I B R

124. gﬂﬁ’l%ﬁ‘ﬁﬁ“ o R B AR

120. The SI unit of heat is

(1) joule ,
(2) erg
3] calorie
(4) watt
12 P, F and A represent pressure, force
and area respectively, then
F F
(1) P=3 2) P==
A A
e -
(3) P_E (4) P—A

12271f the momentum of a bbdy increases
from 10 units to 25 units in S sec, then
the forcéYacting on it is ~———

(1) 1 unit
(2) 2 units ff?*’
A3) 3 units

( 4 units

Mn:a is used in cooklng utensils because
it is

“ good. _condﬁ;:tor of heat but bad
conductor of electricity

(2) bad conductor of heat but good
conductor of electricity

(3) good conductor of both heat and
electricity

(4) bad conductor of both heat and

electricity - 3
QThe angle of dlp at magnetlc pole of

earth is
@pad = in @48 (1) "0° (2) a5°
(3) 90° (4) 135° g e f4) 135°
W& % oy R / SPACE FOR ROUGH WORK ==
Paper-11/C =8 i
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125. 10 m AR & @ T F 20 gufreg
20%@'«7%1?@3?[3?%:&% ™
(1) 25 cm (2) 50 em
(3) 75 cm (4) 100 cm

qﬁm:ﬁaanaﬁa%wmamm 4
an > 4, a‘[m‘-ﬁ%mﬁam’i’ammﬁqﬁ

?l?n%

8
m
3) % (@)

127, e TERT § =R H 1 Fe B 27

(1) <@

2) = T

(3) =T

(4) wH

s #1 gri-weEedt ﬁﬁa%ﬂtaavrm

s

(1) St

() @m0

(3) 3mwm o

(4) F=EEM 4

ﬁamzramulol)z%gwwm

B R

(1) 9 12) Si

3) 13 (4) A5

;ﬁ;?ﬁﬁﬂ d ¥ P ﬁ?rl%m $f CERE
?

126.

(2)

Plwwlo

128.

129.

130.

Sound waves consist of 20 compressions
and 20 rarefactions in 10 m length. The
wavelength of the waves is

(1) 25 cm * (2) 50 cm

u/a} 75 cm (4) 100 cm
If — and - bc respectively the absolute

refractlve mdlces of water and glass,
then the refractive index of glass relative

@er is _
9
) el 5 .
4 3

(3) 3 ® Z !
lwousehold wiring, what wﬂm/ colour

of ‘earth \@

(1) Red

-2 @ = @
(3) Black
(4) White ™ &7

8. Kirchhoff’s current law is-based on the

conservation of i i) O

(1) energy FiF ..

(2)  momentum s [
charge

(4) mass

9. The decimal equivalent of the binary

number (1101), is 1)}_ + [ {

-
L .

(1) o fl g=iy (21‘--1‘1-;,@
1qo "o @ =18~ =T

\/‘ﬁ; ich of the followiig is “notia ——
',-* onstituent of petrolcum? g T

(1) g S
(2) w V@/c&g e
(3) Ffew wm / ,;_ ) _Paraffin wax S AR
@) Ve e (4) Lubricating oil a
131. T% uig M 3t 4 foen ﬂ( grs:;’ﬁﬁ 5?5 qﬁ Mmetal M does not liberate, hyprogen
%m@mmﬁﬁ,—mm@ﬂﬁ‘mﬂ from acids but reacts with oxygerrto give
a‘rﬁ'ﬁa a1 81 M P wEEHTl a blaj colour 'product. Ideéntify ‘M. @
(1) (2) ‘Mg
(1) Na (2) Mg o
(3) Cu (4) Ca B © (‘Ti%
ROU! O
mﬁ%MMIWACEFQR GW%H&)
mylo
\\’L , culso
—F
) 240" )
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132ﬁﬂ1€ﬁf@ﬁﬁﬂ%ﬁﬁmaﬁaﬁm
afferam 27

(1) Ng% 16 g

(2) CO,F16 g

3) CH; % 16¢g

! @4 OxF16g '~

! 133. yarmen #, Wieim s el ) e R
t ﬁaaasmﬁ&aa%mm%?

(1)

2) KMnO4/0H/H20

(3) <foaa rfvveds

(4) wfem faeam

134, f= A 34 ¥ el awmﬁmﬁ am@haﬁm

JFem 2%

*(ll OF, —(2) Na20
- (3)-2NaO, (4) NaOj3
135. mmwwwﬁmg :

(1) Feim it BBy
() eEEE '
{ B) el . s

Sy At
, 136. mmwmmﬁ&ﬁa%
() ntA | |
, C M) R R g

PNl sl N al

JI. @) s,  — -
_’ 137.@%%%@%1%-3@%%3@1
b Bd 2 ‘i) ‘

] (1) 4n T@ 4n+1
(3) 4n+2 @) 2n+4= )
138.@@&%@(&)@1%%%
wfomEsy @ R
(1) WRAEW P T
. @) Wﬂﬁmﬁmaﬂ : d &
\ @) R 0y

~ (@) RHVEE 5

Bry/ H20

32/ Which of the following has maximum
: number of atoms? -

(1) 16 g of Ny @
8

(2), 16 g of COy
16 g of CH

4) 16 g of 02@ y

In laboratory, ethylene and acetylene

can be distinguished by

(1) Brg/Hg0

S
(2) KMnO,/OH/HZ0

(3) Tollens’ reagent

(4) Fehling solution
Q13/ In which of the following compounds,

¢ oxidation number of oxygen is +27?
@ OF», (2) NagO
3) NaOj (4) NaOg
135. The monomer of natural rubber is
(1) Neoprene
) Isoprene
3) Terylene
(4) Orlon

- Which compound has the highest
boiling point?

(1) n- -Pentane |

(2)." Isopentane

(3), Neopentane

i (4) Isobutane i
Whe number of n-electrons in the

molecules of aromatic compound is

(1) 4n (2) 4n+1

(3y 4n+2 (4) 2n+4 -
&%merford s alpha (&) particle scattering
experiment resulted into the discovery of
1)’ proton S
@ nucleus in the atom
(3) electron
(4) atomic mass

. %™ % 0 wE / sPACE FOR ROUGH work
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139, frfifad & § FH-E % fyygig
i A7 s

139. Which one of the following is not a
hcte’s mixture?
Milk .=

(1) == (1) .
(2) ¥ < (2) 7 /2‘0
(3) g (3)
(4) et (4) Jelly—s
140, AT 1 FEAT 87 140. Silk farming is known as
(1) e (1) Epiculture
(2) fodfiwe=w (2) Pisciculture
(3) ¥lidew - Sericulture
(4) Wftereer (4) Agriculture
. Nz s7a ¥ g e . All organisms belonging to the kingdom
18 O 5 T e '\iﬁamﬁ Protista are
(1) unicellular and eukaryotic
Q’qﬁfl&“ﬂ GEI Q\aﬂtﬁ“h
[;) e ae SRR (2) unicellular and prokaryotic
@ et Ty (3) multicellular and prokaryotic
(3) T4 o (4) multicellular and eukaryotic
EI§EI§I5||ZI a1 Q?IWI[EEF;
* Which of the following pigments is
142. f=fafaa ﬁ%@ HH-T] i i F I associated with the germination of
Y Tl ¢ see _
(1) wrEERE . (Il@pme _
©2) AR (2) Plastocyanin
FARR 3) Chlorophyll ;
o {4'} X thphll ==’
@) SFfra N SilRaR” . |
143. T8 0%, N T 72 (=) - {qﬂ =8 W . Tél::;i:?.ei:h:a‘aliannects one bone with
3 8 @ (1) adipose tissue
(1) =EH (2) cartilage
(2) I (3) epithelium
(3) SFehell ligament
I |(149. Viviparous germination of seeds occurs
1«.%@@@(&%@)@%% - in
o) EmA L (1) mango
2) Tﬁiﬁ?ﬁ'{l 5 (2) rhizophora
(3) mﬁ (3) potato
4) ™I (4) sugarcane
£y w1d * ﬁ'ﬂ. WME& / SPACE FOR ROUGH WORK
Paper_n/c 29 3 [ B.T.O.
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145.

146.

147.

148.

149.

150.

THI - § I0Ieare & 9 H gen Ao
T HG © .

(1) e SETEEe

(2) S

(3) TR

(@) RIS

T I 98 HeH, S G0 T amerEl H §Hh
YFHI S I Vbl B, &

(1) ¥WErE

(2) A

(3) wife=e

(4) B

oeg 6 Giverd fred urd s 87

(1) ™

(2) FHd

(3) FNE

(4) T

TR RS 9 8 B §

(1) fafre

(2) I

(3) HIEETESE

(4) WA

Pt 3 4 - o R MR |
(1) wiis 3t Gl N
(2) Uplieeh T "

(3) #fere 3=t

(4) it oTF e i

AR a, a+2, a+4 AT FE &, Wa®
foraw A €7 g

145.

\

e source of oxygen liberated aq
byproduct during photosynthesis is

(1),. carbon dioxide

MZ{ water

@

(3) glucose
(4) chlorophyll

The component of blood that prevents

its clotting in intag#Blpod. vessels is
,@eﬁibody
) heparin
thrombin
" {(18];) hasmoglobin,

\ Islets of Langerhans are present in

(1) stomach
(2) liver

(3) pancreas
( heart

148 Enzymes are chemically

(1) lipid

(2) racid

(3) carbohydrate
protein

1497 "Which of the following acids is also a

o/ @Vitamin?

(1) Formic acid
Ascorbic acid
(3) Maleic acid

(4) Pal_?litic ac@
\t:ljo./lf c?, a+2, a+4 are prime numbers, then

the number of values of a is

(1) & @ one ;PSC Q/?M/ _y,;
@ @ @) two IRy
(3) (3) three
@) & AtH (4) more than three '
T® ¥4 % f TE / SPACE FOR ROUGH WORK
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HRT—IVv

(B) / PART—IV (B)

e ISCRG R ]
/¥ fwa ; soc1aL sTUDIES/OTHER SUBJECTS

uﬂmﬁﬁﬁ%ﬁﬂm%mﬁ%mmwéaﬁzﬁm e/ ar R
w1 e g A

the questions from the foll
" e following part only if they have
opted for SOCIAL STUDIES/OTHER SUBJECTS ;

Candidates should answer

91. ‘HTgET forhre FRIHE’ I® TRy o7
gk 1952 #

2) 1955H
(3) 1957 #
(4) 1960 H

gz.m%mﬁnw%-mﬁﬁaéﬁuﬁ%
g el =1 faera

(1) ¥Rl WTE % Al §
(2) w=m fR % A q
(3) eI F HHA H
_(ay e e & R
93, Wi WM % fhu Ig=ss F I,
TuTel T F3dEE Y et < Wil &
it @ i wifth T 87 _
(1) *F=Ds 52
(2) *T=3T 108
3 eg=se 200
(4) 3TI=9% 213

94, YR ¥ Ity 1 Pt Frtee-AEw &
- Torn < 2, T we B4 €

(1) T w7 & wsft ge

L2 e 5 At e & w7

(3) wWa ¥ oFf Tt % Pt T

@ Ty faftewE
05. -1 371 2w (ard) F1 W T €

(1) @ b
*(2) o

(3) wiveTeT

|
%

{il}/tﬁmﬁ

31

Paper-]I/C

91. ‘Community Development Programme’
was started in the year

(1) 1952
(2) 1955
(3). 1957
4) 1960

The Supreme Court of India enunciated
the Doctrine of Basic Structure of the
Constitution of India in

(1) Shankari Prasad Case

(2) Sajjan Singh Case

(3) Golaknath Case .
(4) Kesavananda Bharati Case
Under which -Article of . the: Indian

Constitution, the Governor has the
power to reserve a Bill for the President’s

assent?
 AFE) EAFECI8NEY) S, T T
(2) = Article 108 : * i
(3) Article 200 Ly
(4) Article 213 = -
94, The Vice President of India 'is.:electeci
by the members of an electoral college
consisting of cLs
(1) all the members of the
States (B,
all the members of both the Houses
of the Parliament

elected members of both fhe
Houses of the Parliament

elected members of the Council of
States 1 4
Which country is not the member of
SAARC?"

(1) Bhutan

(2) Nepal

(3) Bangladesh

(4) Japan

92.

o

03,

Council of
(2) .
(3)
(4)

95.

AL g
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96. T e’ % oraw FH 37
N R Fo FAREER
(2) T Fw <
(3) S0 Al =%
(4) o Sfto IR
97. TIF HeAl 1 T=Y B
(1 Fel |
%ﬁmf‘%a
(3)  SYFH Few A
(4) wfcaeTRie wen ¥
98, SIfHdI e higd &
(1) i el

2y S el ¥ = e

@) =i =h v =
(4) I F § HE AL
99. Yuvl w1 Ty TR T @ R7

(1) W
(2) = w_W
(3) WETR

ITETE

1001%§m=ﬁwﬁaﬁsgﬁ1ﬁi-ﬁ§am=ﬂm

15 T
Y WU (2) 13
(3) 12 4) 9

101 f?ﬁ&rﬁﬁwﬂaﬂ@aﬁﬁﬁﬂwﬁﬂm

fr T B 87
(L N2 (2) 8
‘{7 @) 11.

102mwmmmmﬁ%wﬁﬁm

snaT%? ;
(1) yaR
(2) 'ﬁm‘[ A ST A b i
B) % .
(4) @ e
103. T & P T AH T &7
(1) o o TERS
@ W@’f
R I
) 4) W'ﬁﬂﬁﬂ?ﬁm
104, o g G el ST gut

(2) =
(3) Rl

CWW
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96.

97.

8.

99,

100.

101.

102.

103.

104.

Who is the writer of Rajput Painting?

(1) Ananda K. Coomaraswamy
(2) Rai Krishna Das

(3) Dr. Moti Chandra

(4) W. G. Archer

Folk art is associated with
(1) regional art

(2) painting

(3) modern art

(4) prehistorical art
Geometrical design is called
(1) geometrical forms

(2) the design made by geometrical
forms

(3) the design made in square

(4) None of the above

Aipan is associated with which State?
(1) Uttar Pradesh

(2) Madhya Pradesh

(3) Maharashtra

(4) Uttarakhand @

In total how many Shrutis are thcre in
Hindustani Sangeet?

(1) =2 2 13

(3) 112 T (4 9

How many Shuddha and Vikrita Swaras
in total are there in Hindustani Sangeet?
(k) 12 2 8 '

3) 7 4 11

To which Gayaki is Char Taal used?
(1) Dhamar ’

(2) Taraana

(3) Dhrppad

(4) Khayal

Who among the following is not a
Tabla player?

(1) Pt. Kishan Maharaj

(2) Zakir Hussain

(3) Ram Das Sharma

(4) Ahmed Jan Thirakwa

The First National Games
organized in

(1) Delhi

2) Bombay

(3) Calcutta

(4) Madras

- were
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(1) TETFIH
(@) wd
(@) w0
106. T fead & TAE1 W1 g7
(1) 25 3R
2y 29 A
(3) 30 3T
4) 31 3T
107. 9 & WY H WA T 90 ol ¥ Jaw
B 87
(1) wefd swa
(2) Wefd ARE
3y Tef sl
(4) wef &eq
108. ‘iz’ T NH fora o | w=fRm 27
(1) M
(2), |EEHE
) W&l
(4) & |
109, T 1 - TET g R A 82
(1) TR
(2) i
(3) fasht
T URIRER
110. @ A T fean PR ey & # T
™ R?
(1) 9
) 15 :
111, %35 9 6 dafa &
ESCEXCIE] (s
(2) enuriy €
(3) wwiftra et
4) wsfiFa s
112, %aﬁqemmﬂqqamuﬁmmﬂ
(1) e
2) HRHH
(3) ¥iyre A
44y aETS §

(2) 12
@) 22

ﬁ?eﬁ%

Paper-j1/¢ 33

105.

106.

107.

108.

109.

110.

111.

112.

L (TP

“Today India does not need Gita but
needs a football ground.” This thought
was given by which thinker?

(1} Radhakrishnan _
(2) Swami Vivekananda :
(3) Plato

(4) Rousseau

The Sports Day is celebrated on

(1) 25th August

(2) 29th August

(3) 30th August

(4) 31st August )

Who is the author of the most prominent
book on Yoga, Yog Darshan?

(1) Maharshi Bharat

(2) Maharshi Narad

(3) Maharshi Patanjali

(4) Maharshi Devadatta

“Zein’ protein is related to which crop?
(1) Paddy

(2) Soybean

(3) Maize

(4) Oat

Which breed of cow is of dual purpose?
(1) Gir

(2) ' Jersey

(3) Sindhi

4) 'I‘harparkar

India has been divided into how many
Agro-climatic Zones?

1 o 2 12

3) 15 4) 22

The progeny of nucleus seed is
(1) breeder seed -

(2) foundation seed - ’
(3) certified seed

(4) registered seed

The Central‘ Institute of Medicinal and
Aromatic Plants is situated in =

(1) Hyderabad
(2) New Delhi
(3) Bhopal

(4) Lucknow

‘[ PT.O.
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113, wriee M ¥ fig waifies S9gw % @
(1) Fen
\_/(2)‘ ST
(3) Hrea
@ ==
114. 1 @R Mfieh sgeur werm ferd @
(1) = feg §
(2) IERER A
NE g c
@) u@TSH
115, St 90 # e e &1 w@v g &7
NETY
(2) fF=
(3) HHIRE
(4) W STRITITE
116. FuT 9N & sian @
(1) e &
(2) st A
(37 gW Sffem @
(4) TE-Tgs @
117. HiFd 3R § Foi fehar) vafeal 2,82
(1 22 2) 26

@y 24 (4) 28

118. Zto Yo o F Tt fFE W1 | F9 war &7

(1)

2) fewifan

3 P gar

(4) e @fe

119, a4 feaw foa fea wemn smar &7

) 21 F

(2) 20

3) 25

(@) 28 1

Paper-11/C

113.

114.

115.

116.

117

118.

119,

The most suitable fruit for marmalade
making is

(1) banana

(2) jamun

(3) malta

(4) bael

The Central Food Technological Research
Institute is situated in

(1) New Delhi

(2) Allahabad

(3) Mysore

(4) Lucknow

Which preservative is used in jelly
making?

(1) Sugar

(2) Pectin

(3) Sulphite

(4) Sulphur dioxide

Saffron is obtained from

(1) bud

(2) leaf

(3) flower stigma

(@), calyx |

How many ribs are there in human |
body?

(1) 22 (2) 26

(3) 24 4) 28

Which disease is prevented by TAB

vaccine?

(1) Tuberculosis
(2) Diphtheria
(3) Typhoid

(4) Pertussis
On which day is International Yoga Day
celebrated?

(1) 21st June
(2) 20th June
(3) 25th June
(4) 28th June

55 SR P S LRS- R S Y
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120. fo T 7 7Mie & FAF F 90 Dy 27
(1) I a9
I
o oA
4) A T
121. ‘PRl & @S 9
(1) g™
2] e
(3) ¥ha
(4) dreHifs
122. fidig g wiifa &1 asm e s 3§
73T 1?
(1) 3R
(2) RIS
(3) Rmpm
M FERE
123. 3R A ‘gamed @M @ Fmfo FEm
(1) R H
HieR Hiedt |
“/ﬁg gt &
@) faFeud
124. mﬁwﬁmgﬁaﬂaﬁ
(1) 1865 #
(2) 18707
@y 18754
(4) 1880 #
125. T & B FHK Fie § gEfHa Tl a1
(1), TEwER fafde
(2) T3 efeet
(3) UHEHIG @l
NG ShE |
126. TH-T-3AEN ?ﬁwmmﬁﬁ?
(1) FEHE TSt
(2)
3
t () e gl
127. éﬂmﬁ&%mﬁwmm?
(1) wgI8 ’
(2) == i
) T
(4) w<TH
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125.
. 7 associated with the Kakori Case?

120.

121.

122,

124,

126.

| 127.

In which clothes is resin starch used?
(1) Woolen clothes
(2) Cotton clothes
(3) Silken clothes

(4) Nylon clothes

Ashtadhyayi was written by

(1) Vedavyasa

(2) Panini

(3) Shukadeva

(4) Valmiki

The Second Buddhist Council was held
during the reign of ;

(1) Udayabhadra - ,
(2) Mahapadmananda

(3) Shishunaga

(4) Kalashoka

Akbar constructed Tbadat Khana’ in
(1) Agra |

(2) Fatehpur Sikri

(3) Delhi

(4) Sikandara

The Arya Samaj was founded in thc year
(1) 1865

@) 1870

(3) 1875

(4) | 1880

Who among the following was not

Ramprasad Bismil
Rajendra Lahiri
Ashfaqullah Khan
Surya Sen

(1)
()
(3)
(4)
Who is the founder of Din-i-Ilahi’ ?
(1) Muhammad Ghaznavi

(2) Humayun '

(3) Akbar

(4) Sher Shah Suri

In whose reign did Hsuan Tsang come
to India?

(1) Samudragupta

(2) Chandragupta Vikramaditya

(3) Harshavardhana

(4) Skandagupta

‘1 P.T.O.
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128. § 9RUEI § ¥ fFY “weret’ e S o417
(1) =R
(2) T
IFHA
(4) SESTEl
129. ST 1 IS o Fren TaR-Fa o1
(1)} &1
2) *Fm
@) =4
(4) W@
130. F firg fre T=a % sdfer &7
(1) AR
J2)  STERIRE
(3) 3y
@) fog
131. Frfafea § @ - faw e ameh

TR F AGIF 8 T R A I
i I 27

(1) T =1 oo mafm

2) Tava =1 wpfes ot

3) T

(4) ST 4 & FE T
132. il freqo = 39w faftr @

sy Ty

(2) aaiem fafty

(8) e faiy

4) 9 9§ 9 HIS 7w

133. A &) G9F4 I G W R HEE S
Hahdl ©

(1) %@Tﬁsﬁﬂ'/
wg fdi @
(3) <ofHTEN % &R TR
(4) ohdfes wAfE] @
134, U-3%R 1 =1t 1 fwion dran @
(1) EUy
T T
(3) &AW
(4) WFRE @01 g
135. ATRfwEn i TeaE
(1) fet
FT
(3) Tt
(4) foream
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130.

131.

| 132,

133.

134.

128. Who among the following €mperors wag :
called ‘Qalandar’?
(1) Babur

(2) Humayun

(3) Akbar

(4) Shah Jahan
The Governor-General who partitioned |
Bengal was

(1) Curzon

(2) Canning

(3) Minto

(4) Mayo

Kunwar Singh was the Zamindar of
which State?

(1) Barrackpore

(2) Jagdishpur

(3) Avadh

(4) Bithoor ) ;
Which one of the following is the |

most suitable teaching aid to show |

proportionate size and shape of |
continents?

i
(1) Political map of the world '
(2) Physical map of the world
(3) Globe
(4) None of the above

The suitable method of Geography :
teaching is

(1) tour method

(2) " discussion method
(3) story method

(4) None of the above

A universal language of the map can be |
understood by the way of '
(1) sketch

(2) conventional symbols

(3) alphabets

(4) thematic maps

U-shaped valley is formed by
(1) glacier

(2) river

(3) winds

(4) sea waves

The capital of Australia is
(1) Sydney

(2) Canberra

(3) Melbourne

(4) Brisbane

129.

135.
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136.ﬁﬁﬂ§3@ﬂaaﬂumHTﬁ%a
(1) o 3 :
(2) FRGE H
(3) Wem WEW f
(4) ofifem #
137. Fafafaa .
m%?ﬁﬁﬁmmwﬂam
(1) e
(2) THOR
3) 3w~
(4) TR
Teaan $it 45 6 fem wde A}
(1) ¥ 3w
(2 TWAY
(3) IW-T it 3R
(4) <fEu-gd A AR
Frafafaa 3§ @ F9-w ¥ | gatE 27

138.

139.

v(gj e
(4) HremERY
141.Wﬁ?hwmmaﬁ _
) agd S8 % A el TR

(2) ot SeTE F W TGN A
ﬂ,@; aad S=rd & wy FeR e
@) A Saré % Wy AR AERH
142, Frfifaa sremrE & 9 F-a1 e TR
} grafia 27 |
@ "R/
(2) TR se@ 9@ AR
(3) ST W
(4) ThfE= ER
143, faree) @ wite it 7 R
(1) T TR

136.

137.

138.

139.

lw.

141.

142.

143.
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Bhilai Steel Plant is located in

(1) Chhattisgarh

(2) Jharkhand

(3) Madhya Pradesh

(4) Odisha

Which one of the following rocks is
an example of sedimentary rock?

(1) Slate

(2) Marble

(3) Shale

(4) Granite

The tail of a comet always points

(1) towards the sun

(2) away from the sun

(3) towards north-east

(4) towards south-east

Which one of the following is associated
with fault? -

(1) Anticlinorium

(2) Strike valley

(3) Hogback

(4) ~Graben

Which one of the following is not
a tropical desert? ‘
(1) Atacama

(2) Arabian

(8) Goabi

(4) Kalahari

Inversion of temperature means

(1) decrease of temperature with height
(2) increase of temperature with height
(3) constant temperature with height
(4) fluctuating temperature with height
Which one of the following reservoirs is
associated with Rihand Project?

(1) Gandhi Sagar

(2) Govind Ballabh Pant Sagar

(3) Jawahar Sagar

(4) Govind Sagar

Shipki La is the famous mountain pass
of

(1) Jammu and Kashmir

(2) Uttarakhand

(3) Sikkim

(4) Himachal Pradesh

‘1 R.T.0.
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144, ARG AW ¥ SwE F fega &
- B e

Mm%a&mﬁm
(2) g fafee 8
() R T
(4) 3T A § HE 7
145. ¥l foem ¥q waifirs sudrfl weras wvaft @
(1) Fast :
(3) W FE
@) Rfix
146. VI GRIUW #1 FH-11 W/ ffwe ftwr
¥ gfRa 27
(1) W1
(2) WM
'Mm
@) wmIv |
147. 9= TS FH g YR wfeum #
Frafafae 3§ @ 9-w g R mn?
(1) 423 gameE
(2) 44af gmuA
U3y 734l wweR
(4) 864 TmMEA
148. IFEE FATE # e Rag
(1) =3 ‘-
2) @A H
3w H
(4) dfw#
149, SuEn Frao 3 gfer e v e
W= % 3farla fea g2 7 mite 27
(1) TR,
(2) w9 g
3 s g
(4) afime faw
150. Prefifaa # ¥ #A-w FRvw R g
Hify ¥ wrafda 27
(1) =33 48
(2) =32 49
(3) ¥g=dR 50
AN\ TR 51

Paper-11/C

144. The teacher of Social Studies shoulq
have the knowledge of the subject

matter as well as
(1) educational objectives
(2) teaching methods
(3) teaching technology
(4) None of the above
145. The most useful teaching material for
Geography is
(1) calendar
(2) map
(3) flash card
(4) barometer
146. Which Part of the Indian Constitution
deals with the Fundamental Rights?
(1) Part I
(2) Part II
(3) Part III
(4) Part IV
147. Which one of the following Amendments
of the Constitution of India deals
with the issue of strengthening of the
Panchayati Raj? .
(1) 42nd Amendment
(2) 44th Amendment
(3) 73rd Amendment
(4),86th Amendment;
148. The:Office of the International Court of
Justice is situated in
(1) New York
(2) London
(3) Hague
(4) Paris
149, Population control and family planning

is listed in which Schedule in the Indian
Constitution?

(1) The State List
(2) The Union List
(3) The Concurrent List
. (4) The Residual Subjects
150. Which one of the following Directive
Principles is related to the foreign
policy?
(1) Article 48
(2) Article 49
(3) Article 50
(4) Article 51
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